A
i x Mount

Holds your iPad!

xMount@Wall Secure
Operating instructions

Bl

WWW.Xmount.de



xMount@Wall Secure

Remove the holder from the packaging.

xMount Wall Secure is already pre-assembled by the

factory.

For fastening, please screw xMount Wall Secure tightly

in place at a suitable surface.

For adjusting the ball joint according to your request

e remove the centred cover of the holder.

e remove the M 4 cap nuts on the back side.

e remove all cross-head screws.

e  remove the holder with parts 2 and 3 now.

e remove the locking plate by switching it.

e Underneath, you will find the adjusting screw.

e During assembly, please pay attention to the opti-
mal choice of the screws.

e Screw M 4x20 screws in the threads top right and
bottom left, M 4x10 screws top left and bottom
right.

e Screw the cap nuts in place on the back side of the
holder now.

e Now push the iPad into the holder with the home
button downwards.

e Verschliessen Sie diesen nun mit Teil 1 und einem
qualifizierten Schloss.



Conversion Anti App Stop

e Take the iPad out of the holder.

e Remove the centred cover of the holder.

e Remove the M 4 cap nuts on the back side.

e Remove all cross-head screws.

e Remove the holder with parts 2 and 3 now.

e Now exchange part 2 for part 4 and reassemble
the parts in the sequence xMount Basis part 2 part
4.

e Inthis process, please pay attention to the optimal
choice of the screws. Screw M 4x20 screws in the
treads top right and bottom left, M 4x10 screws
top left and bottom right.

e Screw the cap nuts in place on the back side of the
holder now.

e Now push the iPad into the holder with the home
button downwards.

e Now lock it up with part 1 and a qualified lock.

Contact: WWW.xmount.de

Benjamin Hermann Handels UG
Mihlweg 12 c . 61169 Friedberg
+49 (0) 6 031 - 67 28 106
info@xmount.de



xMount@Safety instructions

External power supply
For power supply of the product, you are allowed to exclusively use the defined accumulator
and the supplied adapter. You will find further information about this in the operating instruc-
tions of the product. Please only use adapters and accumulators released for your product.
When connecting and disconnecting the cables please observe the information in the operating
instructions of the product. Adapters used in vehicles may be exclusively operated under the
supervision of adults. If the product is switched on, please do not keep it in an environment with
a poor air circulation. Otherwise, this may particularly cause damages to the product or even fire.
Please do not keep charging devices, adapters, accumulators and batteries near a source of heat.
Excessive heat may cause the charging device and adapter catching fire. Please disconnect them
from the power supply if not supervised by adults. Please make sure the contacts of your power
socket are clean. Adapters may get very hot. Never hide the ventilation slots of the adapter. Do
not use damaged cables, otherwise there is the risk of an electric shock or fire.

Positioning and operation
Mount the product to such an extent that it cannot cause any injury neither in the range of an
airbag nor in the event of an accident, particularly not in the impact area of the head or body.
Usually, the products are designed for being mounted at the screen, at the air grid or at the
headrests. For products with electrical supply please pay attention to the following:
Lay the cables in a manner that they do not cause any danger (risk of stumbling) and are not
damaged. When connecting the cables please pay attention to the corresponding information in
the operating instructions of the product. The assembly of the product and also the assembly of
accessory parts must by no means impede the driver during driving the vehicle. Do not operate,
mount or adjust this or other products during driving. During driving, please to not reach for or
look for objects that have fallen down.

Anti-theft system
The xMount anti-theft system is construed for simple theft (removal). It cannot withstand theft
attempts by tools and brute force. For the anti-theft protection, please exclusively use locks of
the brand Burgwéchter C-Line 220-20 with a diameter of 11 mm in order to avoid the mount
sliding on. Moreover, the device comes with an additional cover that is required to be used.

Attention
No liability is assumed for damages resulting from misuse of the product or non-observance of
the safety instructions.

o e WWWwW.Xxmount.de

Benjamin Hermann Handels UG
Mihlweg 12 c . 61169 Friedberg
+49 (0) 6 031 - 67 28 106
info@xmount.de



xMount@Safety instructions

External power supply
For power supply of the product, you are allowed to exclusively use the defined accumula-
tor and the supplied adapter. You will find further information about this in the operating
instructions of the product. Please only use adapters and accumulators released for your
product. When connecting and disconnecting the cables please observe the information
in the operating instructions of the product. Adapters used in vehicles may be exclusively
operated under the supervision of adults. If the product is switched on, please do not keep it
in an environment with a poor air circulation. Otherwise, this may particularly cause damages
to the product or even fire. Please do not keep charging devices, adapters, accumulators and
batteries near a source of heat. Excessive heat may cause the charging device and adapter
catching fire. Please disconnect them from the power supply if not supervised by adults.
Please make sure the contacts of your power socket are clean. Adapters may get very hot.
Never hide the ventilation slots of the adapter. Do not use damaged cables, otherwise there
is the risk of an electric shock or fire.

Positioning and operation
Mount the product to such an extent that it cannot cause any injury neither in the range of
an airbag nor in the event of an accident, particularly not in the impact area of the head or
body. Usually, the products are designed for being mounted at the screen, at the air grid or at
the headrests. For products with electrical supply please pay attention to the following:
Lay the cables in a manner that they do not cause any danger (risk of stumbling) and are not
damaged. When connecting the cables please pay attention to the corresponding informa-
tion in the operating instructions of the product. The assembly of the product and also the
assembly of accessory parts must by no means impede the driver during driving the vehicle.
Do not operate, mount or adjust this or other products during driving. During driving, please
to not reach for or look for objects that have fallen down.

Anti-theft system
The xMount anti-theft system is construed for simple theft (removal). It cannot withstand
theft attempts by tools and brute force. For the anti-theft protection, please exclusively use
locks of the brand Burgwachter C-Line 220-20 with a diameter of 11 mm in order to avoid the
mount sliding on. Moreover, the device comes with an additional cover that is required to be
used.

Attention
No liability is assumed for damages resulting from misuse of the product or non-observance
of the safety instructions.

e WWWw.Xxmount.de

Benjamin Hermann Handels UG
Mihlweg 12 c . 61169 Friedberg
+49 (0) 6 031 - 67 28 106
info@xmount.de



